o o o ooooo o 0000000 oOoooooooo O0OOO0o0ooo

[ o o o

0000000 OO0OOO0ooooo

MIYOSHI Aluminum Handles

Dodoododg

=

]
]

Wooooo
205741

o[ []

oood
gooooooAczse
oooooooo
ooo
oooomood
0 EROOO

AHNDO AH-NT ER[]
m AUHNO OAHO OO O000000doogooggoig
AN OO0D000 | AHIDOOOOOO000o 0000 Ommd oooooo
oo oo oo OO0 |O0|d|H|h| L] MxP |R|S |G| 00O | OO
AHN- 80 | 1,040 | AH- 80-N | 1,040 | 80 |27 |32 13 |22 |14 M 8x1.25 32|18 65| ER- 8 | 310
AHN-100 | 1,260 | AH-100-N | 1,260 | 100 |30 |38 |14 | 25|14 |M 8x 1.25 41 18 | 65| ER- 8 | 310
AHN-125 | 1,660 | AH-125-N | 1660 | 125 33|42 | 15|28 |20 |M 8x 1.25 53 18 | 65| ER- 8 | 310
AHN-150 | 2,670 | AH-160-N | 2,670 | 160 |38 |51 |18 | 32|23 | M10x 1.5 | 69 22|84 | ER-10 | 420
AHN-200 | 4,200 | AH-200-N | 4,200 | 200 | 45 |56 | 20 | 36 | 23 | M10x 1.5 | 88 | 22 | 84 | ER-10 | 420

Oo0oO0o00O00000000000000000000000000O0O00O0O0

=)

ASHO

WAD

SAHNO

SAH-NO

w
020 Gy s

— G H—

—M

#=CBO-Lvy b

B

cood

W//AA
B

IIIIIIIIIIIWW

d2

ROOO

e[

® 0 00M000000AC2BMO00000MO0 0 [MOD00SERDOM ASHO 000 00

m ASHO O OOddogdoododooggy

ASHMOOOO 00000mmd
oo 00 [popo|jd|H | h|L R S |G
ASH-125 3.300 |125| 93|34 |40 | 28 | 22 | 50.5| 18 | 57
ASH-140 4.000 |140/108| 37 | 45|29 | 25 |56.5 | 18 | 57
ASH-160 4,700 160|120 40 |49 |30 | 28 | 64.0 | 22 | 74
ASH-200 6,700 |200|180| 45 | 54 | 31 | 32 | 83.0 | 22 | 74
o[][]

00000000000AC2B0000000000
m WAL O OOogooogoiooogin i

wA OOOOd O00000mmd
oo oo o0 o0 d H h L |
WA- 80 1,140 80| 48 | 27 | 32 | 13 | 22 | 14
WA-100 1,360 | 100 | 64 | 30 | 38 | 14 | 25 | 14
o[][]

ooooooooosese-H34M ODOOomoo

l|||ﬂ"""“||““||f7////% m SAHN-COOSAHN-RO 00 0000000000000
. |
o

SAHNO oo O0O00O0mmO

00 COOO0 |ROOO|ODO| d [dl|d2| H | h |
SAHN-50 1,300 1,400 |50 (22| 5 | 10|28 |13 | 18
SAHN-65 1,900 2030 |65 /27| 5 12|32 14| 22
SAHN-80 3,150 3,300 |80 35| 6 |16 |40 | 15| 28

OO0OSAHOOOOODOODOSAHUNOOODOOODO

e[1[]

00000000056SB-H34M 000000
m SAH-CUOUSAH-RUO U 0000000000000 0

SAHO 0o OooooOmmO | 000000
0o cCOO0O0O ROOO|OO| MxP | R | OO oo
SAH-50-0 -N | 1,390 1,490 | 50 |[M6x 1.0| 17 |RG-28| 610
SAH-65-0-N | 1,990 2,120 | 65 M6x 1.0| 23 |RG-28| 610
SAH-80-0 -N | 3,250 3,400 | 80 |[M6x 1.0| 30 |RG-40| 710

obo0oo0o00O000000000000000O00O0O00O0O00O0O0O0O0O00D0OO0



